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1. In a triangle XYZ, right-angled at Y, XY = 15 inches, and angle X = 300. 

Find tan X, 

 

 

 

 

 

2. Match the following: 

a. - cos2 79                  p- cot2 79 + 1 

b. -cosec2 79                q- 0 

c. -sin 90                  r- sin2 79 

d. - cos 90                    s- 1 

 

3. sin X = cos X for all values of X 

a) True 

b) False 

 

4. tan X is not defined for X = 0 

a) True 

b) False 

 

 

 

TRIGONOMETRIC RATIOS WORKSHEETS 

https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets


 

  
www.cuemath.com 

5. cos 25 – sin 65 is equal to: 

a) 1 

b) 0 

c) 
1

2
 

d) Cannot be calculated 

 

6. Find the value of (cos2 51- cos2 39 ) 

 

7. Evaluate: (cos 45 + 4 sec 60 – 3 tan 30) 

 

8. In a triangle OPQ, right-angled at P, OQ = 16 inches and PQ =8 inches. 

Find: angle O, angle Q 

 

 

 

 

 

 

9. Calculate the value of (sec2 62- tan2 62)( sin2 51+ cos2 51) 

 

10. Find the value of (3 cosec2 A-3 cot2 A) 
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1. Tan X=√3 

2. a.-r 
b.-p 
c.-s 
d.-q 

3. 
b)   False 

4. 
b)   False 

5. 
b)   0 

6. 1 

7. 1

√2
+ 8 -√3 

8. 
Angle O=300, Angle Q =600 

9. 1 

10. 3 
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